Turk. J. Math. Comput. Sci. 17(1)(2025) 17-25 © MatDer DOI: 10.47000/tjmcs.1620260



# The Revisited *q*-Derangement Polynomials and Incomplete *q*-Derangement **Polynomials**

Semra Kuş

Mucur Vocational High School, Kırşehir Ahi Evran University, 40100, Kırşehir, Turkey.

Received: 15-01-2025 • Accepted: 14-04-2025

ABSTRACT. In this paper, the q-derangement polynomials of the second type  $\delta_{\psi,q}(\gamma)$  and their generating function are defined. Subsequently, the incomplete q-derangement polynomials  $d_{\psi,q}(\gamma, m)$  and numbers  $d_{\psi,q}(m)$  are introduced and various properties are derived. Furthermore, the relationship between the incomplete q-derangement numbers and q-derangement numbers is demonstrated.

2020 AMS Classification: 05A19, 11B65, 11B83, 11B37

**Keywords:** Derangement polynomials, *q*-analogue, recurrence relation.

### 1. INTRODUCTION

Recently, q-analogues have become a focal point of interest for many mathematicians and are extensively used in the generalization of classical mathematical expressions [3, 13, 18]. In particular, the q-analogues of the derivatives, integrals and polynomials frequently emerge not only in mathematics but also in application areas such as physics and engineering.

In this section, the fundamental q-notations and properties utilized are first presented for  $q \in \mathbb{C}$  and 0 < |q| < 1. The q-integer is defined by

$$[\psi]_q = \frac{q^\psi - 1}{q - 1}$$

for any positive integer  $\psi$  [1, 13]. The *q*-analogue of  $\psi$ ! is

$$[\psi]_q! = \begin{cases} 1 & \text{if } \psi = 0, \\ [\psi]_q [\psi - 1]_q [\psi - 2]_q \cdots [1]_q & \text{if } \psi = 1, 2, \dots \end{cases}$$

The definition of the q-binomial coefficient is

$$\begin{pmatrix} \psi \\ \omega \end{pmatrix}_q = \frac{[\psi]_q!}{[\psi - \omega]_q! [\omega]_q!} \quad \omega = 0, 1, 2, \dots, \psi$$

with  $\begin{pmatrix} \psi \\ 0 \end{pmatrix}_q = 1$  and  $\begin{pmatrix} \psi \\ \omega \end{pmatrix}_q = 0$  for  $\psi < \omega$ , [1, 13]. The *q*-binomial coefficients have the following properties:

$$\begin{pmatrix} \psi \\ \omega \end{pmatrix}_q = \begin{pmatrix} \psi \\ \psi - \omega \end{pmatrix}_q,$$

Email address: skus@ahievran.edu.tr (S. Kuş)

 $\begin{pmatrix} \psi \\ \omega \end{pmatrix}_q \begin{pmatrix} \omega \\ \xi \end{pmatrix}_q = \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q \begin{pmatrix} \psi - \xi \\ \omega - \xi \end{pmatrix}_q$  $\begin{pmatrix} \psi + 1 \\ \omega \end{pmatrix}_q = q^{\omega} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q + \begin{pmatrix} \psi \\ \omega - 1 \end{pmatrix}_a.$ 

In [13], Gauss's binomial formula is given by:

$$(\gamma + a)_q^{\psi} = \sum_{\omega=0}^{\psi} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q q^{\binom{\omega}{2}} a^{\omega} \gamma^{\psi-\omega}$$

for  $\psi \ge 1$ . If  $\beta \gamma = q \gamma \beta$ , where q is a number that commutes with both  $\gamma$  and  $\beta$ , then we have:

$$(\gamma + \beta)_q^{\psi} = \sum_{\omega=0}^{\psi} {\psi \choose \omega}_q \gamma^{\omega} \beta^{\psi-\omega}$$

The definitions of the q-exponential functions are

$$e_q(t) = \sum_{\psi=0}^{\infty} \frac{t^{\psi}}{[\psi]_q!}, \qquad |t| < \frac{1}{|1-q|}$$
(1.1)

and

and

$$E_q(t) = \sum_{\psi=0}^{\infty} q^{\frac{1}{2}\psi(\psi-1)} \frac{t^{\psi}}{[\psi]_q!}, \ t \in \mathbb{C}.$$
(1.2)

Clearly, we see that  $e_q(t)E_q(-t) = 1$  from Eq. (1.1) and Eq. (1.2). Also, if  $\gamma\beta = q\beta\gamma$ , then  $e_q(\gamma + \beta) = e_q(\beta)e_q(\gamma)$ . The *q*-derivative is given by

$$D_q f(\gamma) = \frac{f(q\gamma) - f(\gamma)}{(q-1)\gamma}$$
(1.3)

in [11, 13].

The Jackson integral is defined as follows:

$$\int_{a}^{b} f(\gamma) d_{q} \gamma = \int_{0}^{b} f(\gamma) d_{q} \gamma - \int_{0}^{a} f(\gamma) d_{q} \gamma$$

where

$$\int_{0}^{a} f(\gamma) d_{q} \gamma = a (1-q) \sum_{i=0}^{\infty} q^{i} f\left(a q^{i}\right)$$

for 0 < a < b [13]. Specifically, for  $\psi > -1$ 

$$\int_{0}^{1} \gamma^{\psi} d_{q} \gamma = \frac{1}{[\psi + 1]_{q}}.$$
(1.4)

## 2. The Revisited q-Derangement Polynomials

The first topic we cover in this area of our study is the *q*-derangement numbers and polynomials [5,9,23]. Then, by reevaluating the q-derangement polynomials in [12, 14, 17, 19, 24], we derive an alternative generating function. Thus, we define the *q*- derangement polynomials of the second kind  $\delta_{\psi,q}(\gamma)$ . We also look at a few of these numbers and polynomials properties.

The following generating function defines the *q*-derangement polynomials  $d_{\psi,q}(\gamma)$ .

$$\frac{1}{1-t}e_q\left((\gamma-1)t\right) = \sum_{\psi=0}^{\infty} d_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!}$$
(2.1)

for  $\psi \ge 0$ . When  $\gamma = 0$  is written in Eq. (2.1),  $d_{\psi,q}(0) = d_{\psi,q}$  are the q-derangement numbers [17].

From Eq. (2.1), clearly, it is seen that

$$d_{\psi,q}\left(\gamma\right) = \left[\psi\right]_{q}! \sum_{\omega=0}^{\psi} \frac{(\gamma-1)^{\omega}}{[\omega]_{q}!}$$

in [17]. Also, for  $\gamma = 0$  in the above equation,

$$d_{\psi,q} = [\psi]_q! \sum_{\omega=0}^{\psi} \frac{(-1)^{\omega}}{[\omega]_q!}$$
(2.2)

is obtained.

First few q-derangement numbers  $d_{\psi,q}$  are as follows:

$$d_{0,q} = 1, \ d_{1,q} = 0, \ d_{2,q} = 1, \ d_{3,q} = [3]_q - 1,$$
  
$$d_{4,q} = [4]_q ([3]_q - 1) + 1,$$
  
$$d_{5,q} = [5]_q! [4]_q! ([3]_q - 1) + [5]_q! - 1.$$

**Definition 2.1.** For  $\psi \ge 0$ , the following generating function defines the *q*-derangement polynomials of the second kind  $\delta_{\psi,q}(\gamma)$ ,

$$\frac{e_q\left(-t\right)}{1-t}e_q\left(\gamma t\right) = \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!}.$$
(2.3)

The equation (2.3) shows that the *q*-derangement values  $d_{\psi,q}$  obtained in equation (2.2) are present when  $\gamma = 0$ . Also, we take commutative variable ( $\gamma - 1$ ) and *t* in equation Eq. (2.1), we achieve Eq. (2.3).

$$\begin{split} \sum_{\psi=0}^{\infty} d_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} &= \frac{1}{1-t} e_q \left( (\gamma-1) t \right) \\ &= \frac{1}{1-t} e_q \left( \gamma t - t \right) \\ &= \frac{1}{1-t} e_q \left( -t \right) e_q \left( \gamma t \right). \end{split}$$

**Theorem 2.2.** The q-derangement polynomials  $\mathfrak{d}_{\psi,q}(\gamma)$  have continuing property:

$$\mathfrak{d}_{\psi,q}(\gamma) = \sum_{\omega=0}^{\psi} \binom{\psi}{\omega}_{q} d_{\omega,q} \gamma^{\psi-\omega}.$$
(2.4)

*Proof.* From the Eq. (2.3), we obtain

$$\begin{split} \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} &= \frac{e_q\left(-t\right)}{1-t} e_q\left(\gamma t\right) \\ &= \sum_{\psi=0}^{\infty} d_{\psi,q} \frac{t^{\psi}}{[\psi]_q!} \sum_{\psi=0}^{\infty} \gamma^{\psi} \frac{t^{\psi}}{[\psi]_q!} \\ &= \sum_{\psi=0}^{\infty} \left( \sum_{\omega=0}^{\psi} \binom{\psi}{\omega}_q d_{\omega}, q \gamma^{\psi-\omega} \right) \frac{t^{\psi}}{[\psi]_q!} \end{split}$$

We thereby achieve the intended outcome.

**Theorem 2.3.** For  $\psi$  nonnegative integer,

$$\mathfrak{d}_{\psi,q}(\gamma+\beta) = \sum_{\omega=0}^{\psi} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q \mathfrak{d}_{\omega,q}(\gamma) \beta^{\psi-\omega},$$

where  $\gamma$  and  $\beta$  are the q-commuting variables.

19

Proof. We have

$$\begin{split} \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma+\beta) \frac{t^{\psi}}{[\psi]_q!} &= \frac{e_q\left(-t\right)}{1-t} e_q\left((\gamma+\beta\right)t\right) \\ &= \frac{e_q\left(-t\right)}{1-t} e_q\left(\gamma t\right) e_q\left(\beta t\right) \\ &= \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} \sum_{\psi=0}^{\infty} \beta^{\psi} \frac{t^{\psi}}{[\psi]_q!}. \end{split}$$

If we apply the Cauchy product rule in this last equation and equalize the coefficients, we obtain

$$\sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma+\beta) \frac{t^{\psi}}{[\psi]_q!} = \sum_{\psi=0}^{\infty} \left( \sum_{\omega=0}^{\psi} \binom{\psi}{\omega} \mathfrak{d}_{\omega,q}(\gamma) \beta^{\psi-\omega} \right) \frac{t^{\psi}}{[\psi]_q!}.$$

**Theorem 2.4.** The polynomials  $\mathfrak{d}_{\psi,q}(\gamma)$  have the following properties.

$$D_q \mathfrak{d}_{\psi,q}(\gamma) = [\psi]_q \mathfrak{d}_{\psi-1,q}(\gamma) \quad (The \ derivative \ property) \tag{2.5}$$

and

$$\int_{0}^{1} \mathfrak{d}_{\psi,q}(\gamma) d_{q}(\gamma) = \frac{\mathfrak{d}_{\psi+1,q}(1) - \mathfrak{d}_{\psi+1,q}(0)}{[\psi+1]_{q}} \quad (The \ integral \ property).$$
(2.6)

*Proof.* Firstly, for the proof of equation (2.5), let's apply the equation (1.3) to the equation (2.4).

$$\begin{split} D_q \mathfrak{d}_{\psi,q}(\gamma) = & D_q \left( \sum_{\omega=0}^{\psi} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q d_{\omega,q} \gamma^{\psi-\omega} \right) \\ = & D_q \left( \sum_{\omega=0}^{\psi-1} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q d_{\omega,q} \gamma^{\psi s} + d_{\psi,q} \right) \\ = & \sum_{\omega=0}^{\psi-1} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q d_{\omega,q} \left[ \psi - \omega \right]_q \gamma^{\psi-1-\omega} \\ = & [\psi]_q \mathfrak{d}_{\psi-1,q}(\gamma). \end{split}$$

Now, let's show that the equation (2.6) is true. When we apply Eq. (1.4) to Eq. (2.4), we get

$$\int_{0}^{1} \mathfrak{d}_{\psi,q}(\gamma) d_{q}(\gamma) = \int_{0}^{1} \sum_{\omega=0}^{\psi} {\psi \choose \omega}_{q} d_{\omega,q} \gamma^{\psi-\omega} d_{q}(\gamma)$$
$$= \sum_{\omega=0}^{\psi} {\psi \choose \omega}_{q} d_{\omega,q} \int_{0}^{1} \gamma^{\psi-\omega} d_{q}(\gamma)$$
$$= \sum_{\omega=0}^{\psi} {\psi \choose \omega}_{q} d_{\omega,q} \frac{1}{[\psi-\omega+1]_{q}}.$$

On the other hand, from the Eq. (2.4), we have

$$\mathfrak{d}_{\psi,q}(1) = \sum_{\omega=0}^{\psi} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_{q} d_{\omega,q}$$

and

$$\mathfrak{d}_{\psi,q}(0) = d_{\omega,q}.$$

Thus,

$$\int_{0}^{1} \mathfrak{d}_{\psi,q}(\gamma) d_{q}(\gamma) = \sum_{\omega=0}^{\psi} {\psi \choose \omega}_{q} d_{\omega,q} \frac{1}{[\psi - \omega + 1]_{q}}$$
$$= \frac{1}{[\psi + 1]_{q}} \left( \sum_{\omega=0}^{\psi+1} {\psi + 1 \choose \omega}_{q} d_{\omega,q} - d_{\psi+1,q} \right)$$
$$= \frac{\mathfrak{d}_{\psi+1,q}(1) - \mathfrak{d}_{\psi+1,q}(0)}{[\psi + 1]_{q}}.$$

**Theorem 2.5.** *The formula for the q-derangement polynomials is as follows:* 

$$\mathfrak{d}_{\psi,q}(\gamma) = \left[\psi\right]_q \mathfrak{d}_{\psi-1,q}(\gamma) - \sum_{\omega=0}^{\psi} \begin{pmatrix}\psi\\\omega\end{pmatrix}_q (-1)^{\omega} \gamma^{\psi-\omega}.$$

*Proof.* From Eq. (2.3), we find

$$(1-t)\sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_{q}!} = e_{q}(-t) e_{q}(\gamma t), \qquad (2.7)$$

$$\sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_{q}!} - t \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_{q}!} = \sum_{\psi=0}^{\infty} (-1)^{\psi} \frac{t^{\psi}}{[\psi]_{q}!} \sum_{\psi=0}^{\infty} \gamma^{\psi} \frac{t^{\psi}}{[\psi]_{q}!}.$$

Thus,

$$\sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} = t \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} + \sum_{\psi=0}^{\infty} \left( \sum_{\omega=0}^{\psi} \binom{\psi}{\omega}_q (-1)^{\omega} \gamma^{\psi-\omega} \right) \frac{t^{\psi}}{[\psi]_q!}.$$
(2.8)

Also, if we apply Eq. (1.3) to Eq. (2.7), we have

$$\begin{split} \sum_{\psi=0}^{\infty} D_q \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} &= \frac{t}{1-t} e_q\left(-t\right) e_q\left(\gamma t\right) \\ &= t \sum_{\psi=0}^{\infty} D_q \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} \\ &= \left[\psi\right]_q \mathfrak{d}_{\psi-1,q}(\gamma). \end{split}$$

From Eq. (2.8), we obtain

$$\mathfrak{d}_{\psi,q}(\gamma) = \left[\psi\right]_q \mathfrak{d}_{\psi-1,q}(\gamma) + \sum_{\omega=0}^{\psi} \binom{\psi}{\omega}_q (-1)^{\omega} \gamma^{\psi-\omega}.$$

Moreover, when we make the necessary adjustments to this last equation, we have

$$(\gamma-1)_q^{\psi} = \mathfrak{d}_{\psi,q}(\gamma) - [\psi]_q \,\mathfrak{d}_{\psi-1,q}(\gamma).$$

**Theorem 2.6.** The polynomials  $\mathfrak{d}_{\psi,q}(\gamma)$  satisfy the following property.

$$\sum_{\omega=0}^{\psi} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q q^{\frac{1}{2}\omega(\omega-1)} \mathfrak{d}_{\psi,q}(\gamma) = \sum_{\omega=0}^{\psi} \begin{pmatrix} \psi \\ \omega \end{pmatrix}_q d_{\psi-\omega,q} (\gamma+1)_q^{\omega}.$$

*Proof.* Let's use Eq. (2.3) and Cauchy product rule for proof. We obtain

$$\sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} E_q(t) = \sum_{\psi=0}^{\infty} \mathfrak{d}_{\psi,q}(\gamma) \frac{t^{\psi}}{[\psi]_q!} \sum_{\psi=0}^{\infty} q^{\frac{1}{2}\omega(\omega-1)} \frac{t^{\psi}}{[\psi]_q!}$$

$$= \sum_{\psi=0}^{\infty} \left( \sum_{\omega=0}^{\psi} \binom{\psi}{\omega}_q q^{\frac{1}{2}\omega(\omega-1)} \mathfrak{d}_{\psi-\omega,q}(\gamma) \right) \frac{t^{\psi}}{[\psi]_q!}$$
(2.9)

and

$$\frac{e_{q}(-t)}{1-t}e_{q}(\gamma t)E_{q}(t) = \sum_{\psi=0}^{\infty} d_{\psi,q}\frac{t^{\psi}}{[\psi]_{q}!}\sum_{\psi=0}^{\infty}\gamma^{\psi}\frac{t^{\psi}}{[\psi]_{q}!}\sum_{\psi=0}^{\infty}q^{\frac{1}{2}\omega(\omega-1)}\frac{t^{\psi}}{[\psi]_{q}!} \qquad (2.10)$$

$$= \sum_{\psi=0}^{\infty} d_{\psi,q}\frac{t^{\psi}}{[\psi]_{q}!}\sum_{\psi=0}^{\infty}\left(\sum_{\omega=0}^{\psi}\binom{\psi}{\omega}_{q}q^{\frac{1}{2}\omega(\omega-1)}\gamma^{\psi-\omega}\right)\frac{t^{\psi}}{[\psi]_{q}!}$$

$$= \sum_{\psi=0}^{\infty} d_{\psi,q}\frac{t^{\psi}}{[\psi]_{q}!}\sum_{\psi=0}^{\infty}(\gamma+1)^{\psi}\frac{t^{\psi}}{[\psi]_{q}!}$$

$$= \sum_{\psi=0}^{\infty}\left(\sum_{\omega=0}^{\psi}\binom{\psi}{\omega}_{q}d_{\psi-\gamma,q}(\gamma+1)^{\omega}\right)\frac{t^{\psi}}{[\psi]_{q}!}.$$

From the equality of Eq. (2.9) and Eq. (2.10), we reach the desired result.

## 3. Incomplete q-Derangement Polynomials and Numbers

When we look at the mathematical literature, incomplete polynomials first appear in Baishanski's study [2]. Subsequently, various authors have conducted studies on incomplete numbers, polynomials, and their q-analogues [6, 8, 10, 16]. For example, incomplete Leonardo [4], incomplete Horadam [21], incomplete Bell polynomials [15], incomplete q-Fibonacci and Lucas polynomials [20, 22] and incomplete q-Chebyshev polynomials [7].

The incomplete q-derangement numbers and incomplete q-derangement polynomials are defined in this section. We then go over some of these numbers and polynomials features. Additionally, we derive a variety of recurrence relations by expressing the incomplete q-derangement numbers in terms of q-derangement numbers.

**Definition 3.1.** The definition of the incomplete *q*-derangement polynomials is

$$d_{\psi,q}(\gamma,m) = \sum_{\omega=0}^{m} {\psi \choose \omega}_{q} [\psi - \omega]_{q}! (\gamma - 1)^{\omega}$$
(3.1)

for  $0 \le m \le \psi$ .

From Eq. (3.1), we have

$$d_{\psi,q}(\gamma,m) = [\psi]_q! \sum_{\omega=0}^m \frac{(\gamma-1)^{\omega}}{[\omega]_q!}.$$
(3.2)

**Definition 3.2.** The incomplete *q*-derangement numbers are defined by

$$d_{\psi,q}(m) = [\psi]_q! \sum_{\omega=0}^m \frac{(-1)^{\omega}}{[\omega]_q!}$$
(3.3)

for  $0 \le m \le \psi$ .

Obviously, if we write  $\gamma = 0$  in Eq. (3.3), we see that  $d_{\psi,q}(0,m) = d_{\psi,q}(m)$ . In Table 1, we see the first few incomplete *q*-derangement numbers. 

$n \setminus k$	0	1	2	3	4
0	$[0]_q!$	0	$\frac{1}{[2]_q}$	$\frac{q}{[3]_q}$	$\frac{q[4]_q[2]_q+1}{[4]_q!}$
1	$[1]_q!$	0	$\frac{1}{[2]_q}$		$\frac{q[4]_q[2]_q+1}{[4]_q!}$
2	$[2]_q!$	0	$\frac{1}{[3]_q}$	$\frac{\frac{q}{[3]_q}}{\frac{q[2]_q}{[3]_q}}$	$\frac{q[4]_q[2]_q+1}{[4]_q[3]_q}$
3	$[3]_{q}!$	0	$[4]_q [3]_q$	q	$\frac{q[4]_q[2]_q+1}{[4]_q}$
4	$[4]_{q}!$	0	$[5]_{q}[4]_{q}[3]_{q}$	$\frac{q[4]_q!}{[3]_q}$	$q[4]_q[2]_q + 1$

TABLE 1. The first few incomplete q-derangement numbers

**Theorem 3.3.** For  $m, \psi \in \mathbb{N} \cup \{0\}$  and  $0 \le m \le \psi$ , the incomplete q-derangement polynomials  $d_{\psi,q}(\gamma, m)$  have the following properties:

$$d_{\psi,q}(\gamma,m) = [\psi]_q! \frac{d_{m,q}(\gamma)}{[m]_q!}$$
(3.4)

and

$$d_{\psi+1,q}(\gamma,m) = [\psi+1]_q \, d_{\psi,q}(\gamma,m) \,. \tag{3.5}$$

*Proof.* By multiplying and dividing  $[m]_a!$  by the right side of Eq. (3.2), we obtain the proof of Eq. (3.4).

For the proof of Eq. (3.5), if we utilize Eq. (3.4), we obtain

$$\begin{split} d_{\psi+1,q}\left(\gamma,m\right) &= \left[\psi+1\right]_{q}! \frac{d_{m,q}\left(\gamma\right)}{[m]_{q}!} \\ &= \left[\psi+1\right]_{q} \left[\psi\right]_{q}! \frac{d_{m,q}\left(\gamma\right)}{[m]_{q}!} \\ &= \left[\psi+1\right]_{q} d_{\psi,q}\left(\gamma,m\right). \end{split}$$

Writing  $\gamma = 0$  in Eq. (3.4) yields

$$d_{\psi,q}(m) = [\psi]_q! \frac{d_{m,q}}{[m]_q!}.$$

**Theorem 3.4.** For  $m, \psi \in \mathbb{N} \cup \{0\}$  and  $0 \le m \le \psi$ ,

$$d_{\psi,q}(\gamma,m) = d_{\psi,q}(\gamma,m-1) + [\psi]_q! \frac{(\gamma-1)^m}{[m]_q!}.$$

*Proof.* If we use the Eq. (3.2), we obtain

$$\begin{aligned} d_{\psi,q}(\gamma,m) &= [\psi]_q! \sum_{\omega=0}^m \frac{(\gamma-1)^{\omega}}{[\omega]_q!} \\ &= [\psi]_q! \sum_{\omega=0}^{m-1} \frac{(\gamma-1)^{\omega}}{[\omega]_q!} + [\psi]_q! \frac{(\gamma-1)^m}{[m]_q!} \\ &= d_{\psi,q}(\gamma,m-1) + [\psi]_q! \frac{(\gamma-1)^m}{[m]_q!}. \end{aligned}$$

We see the first few incomplete q-derangement polynomials below.

$$\begin{aligned} d_{0,q}\left(\gamma,0\right) &= 1\\ d_{0,q}\left(\gamma,1\right) &= \gamma\\ d_{0,q}\left(\gamma,2\right) &= \frac{1}{[2]_q}\gamma^2 + \left(1 - \frac{2}{[2]_q}\right)\gamma + \frac{1}{[2]_q}\\ d_{0,q}\left(\gamma,3\right) &= \frac{1}{[3]_{q!}}\gamma^3 - \left(\frac{3}{[3]_{q!}} - \frac{1}{[2]_q}\right)\gamma^2 + \left(\frac{3}{[3]_{q!}} - \frac{2}{[2]_q} + 1\right)\gamma + \frac{1}{[3]_{q!}} + \frac{1}{[2]_q} \end{aligned} \right\} \text{ for } \psi = 0, \end{aligned}$$

7

$$\begin{aligned} & d_{1,q}\left(\gamma,0\right) = 1 \\ & d_{1,q}\left(\gamma,1\right) = \gamma \\ & d_{1,q}\left(\gamma,1\right) = \gamma \\ & d_{1,q}\left(\gamma,1\right) = \left\{\frac{1}{\left[2l_q\right]}\gamma^3 - \left(\frac{3}{\left[3l_q\right]} - \frac{1}{\left[2l_q\right]}\right)\gamma^2 + \left(\frac{3}{\left[3l_q\right]} - \frac{2}{\left[2l_q\right]} + 1\right)\gamma + \frac{1}{\left[3l_q\right]} + \frac{1}{\left[2l_q\right]} \\ & d_{2,q}\left(\gamma,0\right) = \left[2l_q\right) \\ & d_{2,q}\left(\gamma,1\right) = \left[2l_q\right)\gamma \\ & d_{2,q}\left(\gamma,1\right) = \left[2l_q\right)\gamma \\ & d_{2,q}\left(\gamma,1\right) = \left[2l_q\right)\gamma \\ & d_{2,q}\left(\gamma,2\right) = \gamma^2 + \left(\left[2l_q-2\right)\gamma + 1\right] \\ & d_{3,q}\left(\gamma,0\right) = \left[3l_q\right) \\ & d_{3,q}\left(\gamma,0\right) = \left[3l_q\right) \\ & d_{3,q}\left(\gamma,1\right) = \left[3l_q\right)\gamma \\ & d_{3,q}\left(\gamma,2\right) = \left[3l_q\right)\gamma^2 + \left(\left[3l_q\right] - 2\left[3l_q\right)\gamma + \left[3l_q\right] \\ & d_{3,q}\left(\gamma,3\right) = \gamma^3 - \left(3 - \left[3l_q\right)\gamma^2 + \left(3 - 2\left[3l_q\right] + \left[3l_q\right]\right)\gamma + \left[3l_q+1\right] \end{aligned} \right\}$$
for  $\psi = 3$ .

**Theorem 3.5.** The incomplete q-derangement polynomials  $d_{\psi,q}(\gamma,m)$  satisfy the following property.

$$d_{\psi+1,q}\left(\gamma,m\right)=\left(\gamma-1\right)d_{\psi,q}\left(\gamma,m-1\right)+\sum_{\omega=0}^{m}\binom{\psi}{\omega}_{q}q^{\omega}\left[\psi-\omega+1\right]_{q}!\left(\gamma-1\right)^{\omega}.$$

*Proof.* From Eq. (3.1), we have

$$d_{\psi+1,q}(\gamma,m) = \sum_{\omega=0}^{m} {\psi+1 \choose \omega}_{q} [\psi+1-\omega]_{q}! (\gamma-1)^{\omega}.$$
(3.6)

If we use Eq. (3.2) in Eq. (3.6), we obtain

$$\begin{split} d_{\psi+1,q} \left( \gamma, m \right) &= \sum_{\omega=0}^{m} \left( q^{\omega} \binom{\psi}{\omega}_{q} + \binom{\psi}{\omega-1}_{q} \right) [\psi+1-\omega]_{q}! \left( \gamma-1 \right)^{\omega} \\ &= \sum_{\omega=0}^{m} q^{\omega} \binom{\psi}{\omega}_{q} \left[ \psi+1-\omega \right]_{q}! \left( \gamma-1 \right)^{\omega} + \sum_{\omega=0}^{m} \binom{\psi}{\omega-1}_{q} \left[ \psi+1-\omega \right]_{q}! \left( \gamma-1 \right)^{\omega} \\ &= \sum_{\omega=0}^{m} q^{\omega} \binom{\psi}{\omega}_{q} \left[ \psi-\omega+1 \right]_{q}! \left( \gamma-1 \right)^{\omega} + \sum_{\omega=1}^{m} \binom{\psi}{\omega-1}_{q} \left[ \psi+1-\omega \right]_{q}! \left( \gamma-1 \right)^{\omega} \\ &= \sum_{\omega=0}^{m} q^{\omega} \binom{\psi}{\omega}_{q} \left[ \psi-\omega+1 \right]_{q}! \left( \gamma-1 \right)^{\omega} + \sum_{\omega=0}^{m-1} \binom{\psi}{\omega}_{q} \left[ \psi-\omega \right]_{q}! \left( \gamma-1 \right)^{\omega+1} \\ &= (\gamma-1) d_{\psi,q} \left( \gamma, m-1 \right) + \sum_{\omega=0}^{m} q^{\omega} \binom{\psi}{\omega}_{q} \left[ \psi-\omega+1 \right]_{q}! \left( \gamma-1 \right)^{\omega} . \end{split}$$

The proof is so finished.

## 4. CONCLUSION

In this study, q-derangement polynomials were reviewed and obtained with the help of a new generating function. These polynomials were named with q-derangement polynomials of the second type and their various summation properties and recurrence relations were shown. Moreover, incomplete q-derangement polynomials and numbers were defined, thus a new research that will contribute to the literature was brought to the scientific world.

## CONFLICTS OF INTEREST

The author declares that there are no conflicts of interest regarding the publication of this article.

### **AUTHORS CONTRIBUTION STATEMENT**

The author has read and agreed the published version of the manuscript.

## References

- [1] Aral, A., Gupta, V., Agarwal, R., Applications of q-Calculus in Operator Theory, Springer, New York, 2013.
- [2] Baishanski, B.M., On incomplete polynomials, J. Approx. Theory, 40(1984), 384-390.
- [3] Baran, Y.F., Tuglu, N., q-Riordan representation, Linear Algebra Appl., 525(2017), 105–117.
- [4] Catarino, P., Borges, A., A note on incomplete Leonardo numbers, Integers, 20(2020).
- [5] Chen, W.Y.C., Xia, X.W.E., The ratio monotonicity of the q-derangement numbers, Discrete Math., 311(6)(2011), 393–397.
- [6] Djordjevi'c, G.B., Srivastava, H.M., Some generalizations of the incomplete Fibonacci and the incomplete Lucas polynomials, Adv. Stud. Contemp. Math., 1(2005), 11-32.
- [7] Ercan, E., Cetin, M., Tuglu, N., Incomplete q-Chebyshev polynomials, Filomat, 32(10)(2018), 3599-3607.
- [8] Filipponi, P., Incomplete Fibonacci and Lucas numbers, Rend. Circ. Mat. Palermo, 45(2)(1996), 37-56.
- [9] Garsia, A.M., Remmel, J., A combinatorial interpretation of q-derangement and q-Laguerre numbers, Europ. J. Combinatorics, 1(1980), 47-59.
- [10] Golitschek, M.V., Approximation by incomplete polynomials, J. Approx. Theory, 28(1980), 155–160.
- [11] Jackson, F.H., On q-functions and a certain difference operator, Earth and Environ, Sci. Trans. Roy. Soc. Edin., 46(1909).
- [12] Jang, L.-C., Kim, D.S., Kim, T., Lee, H., Some identities involving derangement polynomials and numbers and moments of gamma random variables, J. Funct. Space., 2020(2020), 9.
- [13] Kac, V., Cheung, P., Quantum Calculus, Springer, 2002.
- [14] Kim, T., Kim, D.S., Jang G.-W., Kwon, J., A note on some identities of derangement polynomials, J. Inequal. Appl., 2018(2018), 40.
- [15] Kim, T., Kim D.S., Jang, G.-W., On central complete and incomplete Bell polynomials I, Symmetry, 11(2019), 288.
- [16] Kim, T., Kim D.S., Jang, L.-C., Lee H., and Kim, H.-Y., Complete and incomplete Bell polynomials associated with Lah-Bell numbers and polynomials, Adv. Difference Equ., 2021(2021), 101.
- [17] Kim, T., Kim, D. S., Kim, H. K., On q-derangement numbers and polynomials, Fractals, 30(10)(2022).
- [18] Kızılateş, C., Tuğlu, N., Some combinatorial identities of q-harmonic and q-hyperharmonic numbers, Commun. Math. Appl., 6(2)(2015), 33. [19] Munarini, E., q-derangement identities, J. Integer Seq., 23(2020).
- [20] Srivastava, H.M., Tuglu, N., Cetin, M., Some results on the q-analogues of the incomplete Fibonacci and Lucas polynomials, Miskolc Math. Notes, 20(1)(2019), 511-524.
- [21] Tan, E., Dağlı, M., Belkhir, A., Bi-periodic incomplete Horadam numbers, Turk J. Math., 47(2023), 554–564.
- [22] Tasci, D., Firengiz, M.C., Tuglu, N., Incomplete bivariate Fibonacci and Lucas p-polynomials, Discrete Dyn. Nat. Soc., 2012(2012).
- [23] Wachs, M. L., On q-derangement numbers, Proc. Amer. Math. Soc., 106(1)(1989).
- [24] Zhang, X.-D., On the spiral property of the q-derangement numbers, Discrete Math., 159(1996), 295-298.